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IT Semester B.Sc. Examination, May 2011
(Semester Scheme)
PHYSICS - 11
Properties of Matter, Heat and Thermodynamics

Time : 3 Hours Max. Marks : 60

PART - A
Answer any five questions. Each question carries six marks. (5%6=30)

1. a) What is internal bending moment ?

b) Deduce an expre_ssion for the depression at the loaded end of a single cantilever. (1+5)

2. Derive Poiseuille’s formula for the flow of viscous fluid through a horizontal capillary
tube of length L and radius r. 6

3. a) What is angle of contact ? Explain.

- b) Obtain an expression for the pressure difference across a curved liquid surface. (2+4)

www.onlinebu.com

4. Derive an expression for thermal conductivity of a gas on the basis of kinetic theory
of gases. : . 6

5. a) State and explain zeroth law of thermodynamics.

-b) Obtain an expression for the work done in an isothermal process. (2+4)

6. With the help of a diagram obtain an expression for the efficiency of a Camot’s
engine. 6

7. a) Define Helmholtz and Gibb’s free energy.

_ b) Using Maxwell’s thermodynamic relation obtain an expression for the difference
' in specific heats for a Van der Waal gas. 2+4)

8. Discuss the results of the Joule — Thomson experiment. Distinguish between
Joule - Thomson effect and adiabatic expansion. (2+4)
P.T.O.
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PART - B

|WHTCTVRM AR

Solve any four problems. Each problem carries five marks. (4x5=20)

9. An aluminjum rod of length 10 m and area of cross section 1 sq.cm is compressed
by a longitudinal load of 10 kg. Find the energy stored in the rod.

Given : Young’s modulus of aluminium = 7x1010 N/m?

10. A spherical ball of radius 2.2x1073 m and mass 1.4x10% kg takes 6.4 s to fall _
steadily through a height of 0.32 m inside a large volume of oil of density
900 kg m2. Calculate the coefficient of viscosity of the oil.

11. Calculate the diameter of a capillary tube in which water rises to a height of
15 cm. Given : Surface tension of water = 70x10~3 Nm™L, angle of contact = 0°,
density of water = 10° kg m and g = 9.8 m/s?.

12. Dry air at normal pressure and 27 °C is compressed to 1/374 of its original volume
under adiabatic conditions. Determine the resultant pressure. Given : y = 1.4,

13. Calculate the elevation of the boiling point of water due to a change of pressure
of 1 cm mercury. Assume L = 2.268x10° J kg~! and specific volume of

steam = 1.671 m°.

14. Calculate the change of entropy when 0.02 kg of ice at 0 °C is converted to steam

at 100 °C.

Given : Specific latent heat of ice = 3.36x10° T kg1, specific latent heat of
steam = 2.27x10% J kg! and specific heat capacity of water = 4200 J kg 1K1,

PART - C
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15. Answer any five of the following. Each question carries two marks. (5%2=10)

a) Which is more elastic — steel or rubber ?

b) Explain why a parachute is invariably used while jumping from an aeroplane.
¢) Why does hot soup taste better than cold soup ?

d) What is the basic difference between an ideal gas and a real gas ?

e) Why is ¢, greater than ¢, ? '

f) Why does rubber band become hot when stretched adiabatically ?

g) What is meant by adiabatic demagnetization ?

h) How will the rise of a liquid be affected if the top of the capillary tube is
closed ?
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11 Semester B.Sc. Examination, May 2011
(Semester Scheme)
Paper - II : CHEMISTRY
Time : 3 Hours | Max. Marks : 60

Instructions : 1) The question paper has two Parts. Answer both the Parts.
2) Write the equations wherever necessary.

PART - A
Answer any six of the following questions. Each question carries two marks.

(2%6=12)
1. Mention the type of hybridisation in the following BeCl,, SFg, PCl5 and H,0.

2. Calculate bond order in O, .

Compare the dipole moments of Cis and trans isomers of C,H,Cl, molecule.

Write two applications of Neon.

www.onlinebu.com

How is diborane prepared from boron trioxide ?

Mention the electrophiles in nitration and sulphonation of benzene.

[ SR NV R S

Define Huckel’s rule with an example.

Explain Saytzeff’s rule with an example.

”po

9. State First law of Thermodynamics.
10. Classify the following in to partially miscible, completely miscible and immiscible
pairs. :
i) Aniline-Water
i) Ethanol-Water
i) Water-Nicotine

-

P.T.O.
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PART - B

Answer any eight of the following questions. Each question carries six marks.  (6x8=48)

11.

12.

13.

14.

15.

16.

17.

18.

a) On the basis of VSEPR Theory explain the shape of NH,; molecule.

b) Write‘ any two properties of ionic compounds. (4-;-2)
a) How is Lattice energy of NaCl determined, using Born-Haber cycle ? ]
b) What are intrinsic semiconductors ? Give one example. (4+2)
a) How is Xenon hexa fluoride prepared ? Explain its structure.

b) ‘ Draw the molecular orbital diagram of N,, molecule. (4+2)
a) Explain the structure of diborane.

b) What is .the effect of heat on hydrazine ? Give reaction. (4+?.)
a) What is the action of water on thionyl chloride ?

b) Mention the geometry of CIF; and SO,Cl,.

¢) Give two examples each for ortho and meta directing groups. (242+2)

a) How are silicates classified based on structures ?

b) Write the auto ionisation of liquid NH,. What is an acid and base in liquid
ammonia ? (3+3)

a) Explain the orientation effect of — OH group in phenol.
b) How is anthracene converted to anthraquinone ? (4+2)
a) Explain the mechanism of sulphonation of benzene. -

b} Arrange the following compounds in the decreasing order of reactivity.

i}y Benzene 1) Toluene iif) Nitro benzene. (44+2)

www.onlinebu.com
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19. a) Explain the mechanism of Sy” reaction.

b) What is meant by thermodynamic equilibrium ? (442)
20. a) Define an isolated system.
b) Enthalpy of a reaction is found to be —92.2 kJ at 298 k. What is the enthalpy
of this reaction at 348 k (ACp = —1.97x10 " kJ) ? (2+4)

21. a) Describe steam distiliation. How it is employed in calculating the molecular
mass of organic liquid ?

b) Write two applications of Nernst distribution law. (442)
22. a) What are azeotropic mixtures ? Explain the principle of fractional distillation.

b) Classify the following in to extensive and intensive properties.
i) Mass il Density n) Volume iv) Temp.
(4+2)

www.onlinebu.com
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Second Semester B.Sc./B.A. Examination, May 2011
(Semester Scheme)
MATHEMATICS (Paper -1I)

Time : 3 Hours Max. Marks : 90

Instruction: Answer all questions.

1. Answer any fifteen of the following : (15x2=30)
1 1 -1]
1) Find the rank of the matrix, A ={2 _3 4
3 -2 3
B B e
8
~ -
12 1 g
2) Find the value of k if the matrix | —1 -3 —1/| is of rank 2. 5
k 0 1 %

3) Find the values of A for which the system has a non-trivial solution,

2x~y+2z=0
3x+y-z=0
AX-2y+z=0

4) If A is a square matrix then prove that A and A" will have the same eigen
values.

1 2
5) Find A% using Cayley Hamilton theorem where A = [ ] .
1 3

P.T.O.
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6) Find the length of polar subtanget to the curver =a (1 + cos8) at = -g'-

ds
7) Find —~ for the curve y? = 4ax.

8) Find the angle between the radius vector and the tangent to the curve
r=a eecom

9) Write the formula for the radius of curvature at any point on a curve in
Cartesian form.,

10) Find the tangents at the origin to the curve x> + y3 = 3 axy.

3
11) Find the envelope of the family of curves y = mx + o’ where m being the

parameter.
12) Find the asymptotes parallel to the coordinate axes for the curve x?y2 -y 2 =2,

13) Show that y = log x is everywhere concave downwards.

www.onlinebu.com

14) For the curve y = a log sec (i) show that ds_ sec [i]
a , dx a

15) Find the volume generated by rotating a para‘bola y2 = 4ax lying between its
vertex and latus rectum about x-axis.

16) Sotve I — (x 4 y)2.
dx _

17} Find the integrating factor of (1+ xz)gl +y=tan"'x.
X
18) Verify for exactness (4x + 3y +1) dx + (3x + 2y + 1) dy = 0.
dy
19) Solve P2 —3P +2 =0, where P=a.

20) Find the orthogonal trajectory of r@=a.
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http://www.onlinebu.com
http://www.onlinebu.com

(AT R 3- MS - 217

II. Answer any three of the following : (3x5=15)
1) Reduce the matrix A to its normal form and find the rank of A where
1 1 - 1 2
A=1|2 1 -3 -6].
3 -3 1 2

" 2) Verify whether the following system of equations for consistency and if
consistent solve : '

X+y+z=6
x+2y+3z2=14
x + 4y + 7z = 30.

3) Using elementary transformations find the inverse of the mairix

www.onlinebu.com

2 -1
4) Find the eigen values and eigen vectors of the matrix A = |: 0 l] .

1 0 1]
"5 IfA= 12 H, find A~ using Cayley Hamilton theorem.
2 2 3

IIL. Answer any two of the following : (2x5=10)

0
1) Show that the curves r=a secz(g] and r=bcose 02(5] intersect

orthogonally.
2) Find the Pedal equation of x2 + y2 = 2ax.
3) Find the radius of curvature of the curves x = a cos3t, y = a sin’t.

2 2
4) Find the evolute of anellipse *_, Y _ .
a’ ¥ b’
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IV. Answer any two of the following : (2%5=10)
1) Find all the asymptotes of the curve x> + 2x%y + xy% - x?—xy+2=0
2) Find thg: pdéition and nature of the double points of the curve y? =x2 (x — 1).
3) Find the envelope of the family of lines x cos’ @+ ysin’@=a, where g isa |
parameter.

. » 2 2
4) Trace the curve Astroid x5+y3 —as, (a>0)

V. Answer any two of the following : (2x5=10)
1) Find the area of the Cardioid r = a (1 + cos9)

2) Find the surface area generated by revolving the arc of the Catenary

¥ = C' cos h{EJ from x = 0 to x = ¢ about x-axis.
. C %
3) Find the length of the arc of the curve x =¢€°sin 9, y= e cos @ from 6=0 -§
c
n E
to 0=—, S
0 5 %
VL Answer any three of the following : (3x5=15)

dy.
1) Solve =X =sin (x +y)
dx

d )
2) Solve =+ sm{l]
dx x X

d
3) Solve Lo ytanx = —y’secx.
dx

4) Find the orthogonal trajectories of the family of parabolas y2 = 4ax, where a )
is a parameter and name them.
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II Semester B.A./B.Sc. Examination, May 2011
(Semester Scheme)
COMPUTER SCIENCE -11
Data Structures and Operating Systems

Time : 3 Hours Max. Marks : 60

Instruction: Answer all the Sections.

SECTION - A

Answer any ten questions. (10x1=10)
1. What are primitive data structures ?
Name the character used to terminate a string.

What is meant by traversing a linked list ?

R W

What are the operations performed on a stack ?

5. Write any two merits of array over linked list.

6. What does vertex and edge represent in a graph ?

7. Write any two applications of trees.

8. What is turn around time ?7

9. Mention any one page replacement algorithm.
10. What is the difference between long-term scheduler and short-term scheduler ?
11, Define Spooling.

12. Mention any two attributes of a file.

P.T.O.
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SECTION - B

Answer any five questions.

13.
14.
15.
16.

17.
18.
19.

Explain the process of extracting a sub -string from a given string.
Write a C function to insert a node at the beginning of the linked list.
Explain Tower of Hanoi problem with 2 disks.

Define the terms.
a) walk
b) degree

¢) connected graph.
Write a short note on single-user operating system.
Write the activities of each states of a process.

Mention the different operations performed on files.

SECTION - C

Answer any five questions.

20.

21.

a) Mention any two goals of data structure.

b} Write an algorithm to
1) Insert an item into k™ position of an array.
2) Delete an item from the ki position of an array.

Write a C program to implement queues using pointers.

(5x3=15)

www.onlinebu.com

(5%7=35)

22. a) What does an availability list represent ? Write a C function to create a node

from the available list.

b) Whatis a circular linked list 7
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23. a) Convert the following infix expression to postfix and prefix. 4
(A+B)*C-D-E)r(X+Y).

b) What is recursion ? Give any two advantages of it.

24, a) What are Double-ended Queues ? Explain with diagram.
b) What are the advantages of doubly linked list over singly linked list ?

25. 2) What are parallel systems ?

B W W R W

b) Explain the concept of virtual machines.

26. What sort of information is stored in a process control block ? Explain with a
diagram.

27. a) Mention the various memory management functions. 4

b) Write the difference between paging and segmentation. 3
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II Semester B.Sc. Examination, May 2011
(NS)
ELECTRONICS - 11
Basic Electronics — IT

Time : 3 Hours Max. Marks : 60

Instruction : Answer any five questions from Part — A, any four from |
Part — B and any five from Part — C.

PART - A
Answer any five questions : (5%6=30)

1. Explain the working of JFET amplifier and derive the expression for its voltage
gain.. 6

2. Explain the construction and working of unijunction transistor (UJT). Draw its
V-I characteristics. 6

3. &) Explain the classification of power amplifiers based on the position of
Q-point. _
b) Draw the frequency response curve of a double tuned voltage amplifier. 4+2

www.onlinebu.com

4. a) Derive the expressions for I~ and V-, of a dual input balanced output differential
amplifier. _

b) Mention any four characteristics of an ideal operational amplifier. 4+2

5. a) Derive an expression for voltage gain of an amplifier with negative feed back.
b) Mention the effects of ne gative feed backon : -
1) bandwidth |
i) input impedance of an amplifier. 4+2

6. With the help of a circuit diagram, derive an expression for the voltage gain of a
" first order high pass filter. Draw its frequency response curve. 6

7. -Explain the construction and working of a Wein-bridge oscillator. Write the
expression for its frequency of oscillations. 6

P.T.O.
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8. Explain the working of an astable multivibrator with a circuit diagram. Write the
expression for its frequency. Sketch the output waveform. 6

PART - B
Answer any four questions : (4x5=20)

9. A half wave rectifier circuit employing an SCR is adjusted to have current of 1 mA.
The forward breakover voltage of SCR is 100 V. If the sinusoidal voltage of 200V -
peak is applied and Ry =1k, find

i) Firing angle
if) Conduction angle
iii) I : . 5

avg'
10. a) Calculate CMRR in dB for the operational amplifier circuit of
vg=1mV,v,=120mV;
v.=1 mV,v =20 pv.
b) The output voltage of certain operational amplifier changes by 20 Vin 4 ps.
What is its slew rate ? 3+2

11. A basic amplifier produces an output of 2 V when the input of 5 mV is applied.
If the feed back ratio is 0.05, find
1) Open loop gain
i) Closed loop gain

www.onlinebu.com

i) Feed back voltage. 3
12. Find the output voltage for the operational amplifier circuit shown below : 5
ok N RP

www.onlinebu.com


http://www.onlinebu.com
http://www.onlinebu.com

A 0 3- : MS - 245

13. The frequency of oscillations generated in a Hartley oscillator is 100 kHz. The
feedback factor in the oscillatory network is 0.1, find the values of inductors

used if C = 10pF. 5
14. A crystal oscillator has the following parameters :
L=033H,C=0.06pF,Cy,=1pFand R=5.5 kQ
* Calculate :

1) Series resonance frequency

if) Parallel resonance frequency

iii) QO of the crystal. 5
PART - C
Answer any five sub-divisions. (5x2=10) =
Q
15. a) Mention the distinguishing features of a MOSFET over a JFET. 2 %
b) What are the remedies to overcome cross-over distortion in class B push pull %
amplifier ? 2 S
c) The circuit below shows the output as 10 mV for the ideal op-amp. Why ? %
How can it be made to zero ? 2
: P
+ Y =lomy
= = ~Yeo

d) What output voltage results in the following circuit for an input voltage
=—03V? 2

b 360 K2
] N v |

YW
——s S0
S i

-VCC.-

www.onlinebu.com


http://www.onlinebu.com
http://www.onlinebu.com

MS - 245 | . s

e) The frequency response curve of a circuit is shown below. Identify the circuit.

Is it possible to obtain such a response practically ? 2
Pely
Pwm
s —ﬁe%emw\f
f) Practical L.C tank circuit alone once excited does not produce sustained
oscillations. Give reasons. 2
g) The output of an astable multivibrator is shown below. Calculate its frequency
and duty cycle. 2
ve
2049 mG>
1Y
— k£
<eB3ns
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II Sem. B.Sc. Examination, May 2011
(Freshers Scheme)

35 e~ 11
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4) BN T BREETRR, e BRI Beeron. & SRS BRSR> 7
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II. caneeode aom’%; 23TES 2BO00 : (2x5=10)

1) Reemegs wan

. 2) SEperodd B
3) B33oL DR o BB

“4) 093

5) RoFen WPmo=Es
6) Q0 &I,
7) a2 80

- 8) Bowsboms dSTocsh.

P.T.O.
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(10x4=40)
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II Semester B.Sc./B.C.A./B.Sc.(FAD) Examination, May 2011
(Semester Scheme)
(Fresh) (2011 and Onwards)
LANGUAGE ENGLISH - II (Part A and Part B)

Time : 3 Hours Max. Marks : 90

Instruction : Answer all questions. Mention the question numbers correctly.

PART - A

Experience (Literary Component)

1. Answer any seven questions in 1 or 2 sentences : (7x2=14)
1) At what time does the bomb explode in the poem The Terrorist, He Watches ?

2) The city of Bombay, in Sea Breeze, Bombay, gives shelter to refugees.
(True/False)

3) In Our Town, what does Pakkiri’s mother do for a living ?
4) What does ‘ahimsa’, in its positive form mean ?

5) Mention the two activities that the author of Starting from Mile Zero
concentrates on.

6) Why did the writer have to give up his favourite walk in Beast Tales from
Burma 7

7) Atthe age of 33, why did Pele feel like retiring ?
8) What was Prafulla’s greatest ambition ?

9) Why did the young Pamuk always show his drawings to his father first ?
II. Answer any four in about 80-100 words/a page each : (4%5=20)

1) Describe the people who move in and out of the building where the bomb
has been planted.

2) How does Pakkiri’s father die in the lesson Our Town ? PO

www.onlinebu.com
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3) What is the “three-pronged” problem that the writer talks about in Starting
Sfrom Mile Zero ?

4) How did the travelling salesman help Pele and his friends to enter the big
tournament ?

5) In Audition, how was Prafulla unlike the other boys of his age ?

6) How did Pamuk’s parents respond when he showed them his drawings ?

[II. Answer any one in about 200-250 words/2 pages : (1x10=10}

1) Bombay is shown as a city that promotes harmony among people from
diverse backgrounds. How does the poem Sea Breeze, Bombay bring this
out ?

2) Trace the writer’s journey from Mile Zero to the Antarctic, with referencc to
the various destinations she visits.

3) Explain Gandhiji’s views on ahimsa.

IV. Rewrite as directed (Vocabulary) : 6

1) Tick the word that is closest in meaning to the expression given below :  (1x1=1)

A well developed sense of beanty : %
» Aesthetic %
» Breathtaking %
* Awesome 2
2) Fillin the blanks choosing the right expressions from those given in brackets %
(1x2=2)
1) The fire men the fire with water hoses.
2) The guest was forced to with the impolite

behaviour of the children.
(put up, put out, put across)
3) Match the phrases in Column A with the correct meanings in Column B: (1x3=3)

A B
In a flash again and again
Scrape together in an advantageous position
In a good spot suddenly

collect with great difficulty
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PART -~ B

(Communication Skills)

V. 1) Change the following into indirect speech :

VL

a) John said to his friend, “I want to buy a car”.
b) The teacher said, “l am writing a book™.
2} Change to passive voice :
a) The University announced the First Semester results.

b) The college issued the mark cards to the students.

3) Rewrite the following in a single sentence vsing the linker-and :

She attended a special class. She returned home late.

4) Frame a suitable Wh question to get the underlined words as answer :

My friend gave me this pen.

5) Add a suitable question tag to the following statement :

You will not forget the answers, ?

Read the following passage and answer the questions given below :

Tourism is an important activity in modem life. In olden days, tourism as such
was not wide spread. Instead, people went on long or short pilgrimages,
combining piety and pleasure in the same activity. They walked to places like
Thirupathi, Kashi and Rameshwaram and it took years for them to complete a
pilgrimage. They faced many hardships on the way. Pilgrims had to walk through

thick jungles, sleep in open places and had to starve for many days as they

could not get food and clean drinking water.

www.onlinebu.com
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Often, those who went to far off places like Kashi never returned. They might
have met with an accident or fallen ill and died during the pilgrimage. Hence, if
people returned home after a long pilgrimage, they held celebrations and thanked

God for the safe return.

Today, travelling has become safer and more comfortable. We have many
means of transport to go on tours or pilgrimages. Good roads, increase in

transport and lodging facilities have made travel pleasurable.

Nowadays people undertake tours mainly for relaxation and pleasure. They
visit places of historical importance or natural beauty. They visit waterfalls,
beaches or hill stations to get refreshed and relieve their tension. On the other
hand, pilgrimage is considered a religious duty. People visit temples to offer
prayers or fulfil vows. The difference between a tour and pilgrimage is slowly

disappearing and people turn a pilgrimage into a pleasurable tour.

In India, tourism has gained importance in recent years due to several reasons.

www.onlinebu.com

In olden days only the wealthy people could travel to places of interest. They
travelled by horse drawn carriages. But today, with the increase in public transport
facilities all sections of the society can afford td travel. Railways, Roadways
and Airways link all parts of the country and people can travel with ease and
comfort if they plan their tour well in advance. There are many hotels and guest
houses which provide food and lodging. Spending power of people too has

increased. International tourism is gaining popularity.

Tours are popular because they help us to gather knowledge and experience in

]_ _ an enjoyable manner.
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V1. A) 1) What are the two types of travel compared in this passage ?

VL. B)

2) Pick out an expression or a word (a linker) from the passage which
indicates contrast.

3) Choose the most suitable answer :
a) The passage explains the problems of tourists.

b) Compares and contrasts a tour with a pilgrimage in olden and modem
times.

c¢) It describes sight seeing.
4) Compared to olden days, it is easy to travel now. (True/False).
5) The passage states that a pilgrimage is better than a tour. (true/false).
6) Mention one difference between a tour and a pilgrimage.
1) Mention two hardships faced by the pilgrims in olden days.

2) Mention two differences between tours in olden days and tours in modern
times.

. VII. Write a paragraph of about 80-100 words each using the hints given below :

a) Write on the negative impact of using cell phones

b)

» Bad for health, radiation from cell phones can cause brain tumour
 Use of cell phones while driving, riding cause accidents
» Use in public places disturbs others
« Excess use affects relationship between parents, children
 Conclude the paragraph

Write on the evils of war

Use the hints given in the box below :

Causes sufferings to millions, especially to women and children-destroys
life and property-wars do not solve problems-modern nuclear warfare
very dangerous-causes permanent harin to men, animals, plant life-avoid
wars-settle disputes through dialogues.

[ B
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VII. Summarise the following passage. Your summary must have at least four main

ideas. Give a suitable title to the summary.

India in spite of emergence of large and small industrial cities, remains
predominantly agricﬁltural. India is still a land of villages. About 75% of the
people of India live in villages. Compared to the past, today, especially after
independence, life in Indian villages has certainly improved. Villagers are given
loans and subsidies to dig wells, to buy seeds, and for several other agricunitural
purposes. Villagers are also given aid to start cottage industries and other
economically productive enterprises. Many roads have been built to connect
villages with towns and cities. The villagers can travel by buses and transport
commodities to towns and cities for sale. A large number of villages have been
supplied with electricity with the result that they can use electricity for lighting
and for running irrigation pumps. Many villages have the facility of postal service
within their reach. In ail large villages there are post offices. There are schools
in villages and the children of the villagers can receive education in those schools.
On account of all these improvements which have taken place in villages, today,

life in an Indian village is certainly far better than it was during the British rule.

IX. Do as Directed :

1) What enquiries would you make in the following situations ? Write a sentence

each:
a) You want to know the bus fare from Bangalore to Mysore.

b) You want to know from the receptionist the working hours of the bank.
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2) Read the following telephone conversation and organize the message in the

format given : 3

Ram : Good moming, I am Ram from Mysore University. Couid

I speak with Mr. Gopal ?

- Receptionist : Sorry Sir. Mr. Gopal is not available. He is attending a

meeting. Would you like to leave a message for him ?

Ram . Yes. Could you please inform him that the meeting scheduled
for 20 May 2011, at Mysore University has been postponed
to 20 May, same time. Ask him to call me back when

free. My contact number is 9999988888
Message for :
Message from :

Information ;

www.onlinebu.com

Contact No. :

3) When you visited your friend’s house he was not available. Leave a message
for him asking him to call you as soon as he gets back home as you want to
discuss some urgent official matter with him. Your message should be brief

and to the point. 3

www.onlinebu.com


http://www.onlinebu.com
http://www.onlinebu.com

AR R MS - 065

I1 Semester B.Sc. Examination, May 2011
(Semester Scheme) (Freshers) (2011 and onwards)
HINDI (Language) — II
Poetry, Grammar and Translation Terminology

Tﬁﬁe : 3 Hours Max. Marks : 90

1. FrafaRaa veel & 3w v s Ay § forfaw ; (1x10=10)

1) T T W 3176 S e ST A R 7
2) eIt 3 TR TR ST ATHETET § o JraT i & 7
3) e et ufta d avem f3pa wa 8 see s R ¢
4) ‘Hiet o1 e’ it % AR S B 7
5) Tergie fore wre o g9 W deer e T oft 7
6) e W foreht g3 et v okl weft € 7
7) gt 3aa i i forwd a1 forn g 7

" 8) R et ok v wHa R 7
. 9) R IeFR giaey ) aoles aroft § e det sy ST e ?

10) wda 3R 99 % SEew TR SA % arg o H H fereer a9 wehar a8 8 7

1. o) fordi Y R efafea smen #ife (8x2=16)
1) itfere, Fricmafa s | g s st <t | )
aftet - it sa g ol | wea 7 3R e e )
ga-gufy, 7l - anfagerd | wsa ga oo - 99t |
TR g sfak iR | el e Fifemd i |
qereiarg STee @ M | fmer sorf wgafa e
2) &ga foaa & haw e |
qrras R 3wy |
TR AT T | o Wi e A |
wer mitfe v IR | o gt avaan iR |
§ froash A fifr ol 1R Fmag gl == |
g el ¥ w7 it | s gew Un AT e )
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3) g, 3 ~ Ry, -3, figedt |
T~ FER - e Go, w6 a1 - wasr |
FIREn ~ 79 - WY - e, st |, TEe - Rawdt
Foitar g - et ~ e - R, g s TR

am) Tl 2t < wvei s R - l (8x2=16)
1) 9 ¥ & wpE 9 W e i g,
B VM W, 91 A §, A st @ Rewaw
# Tra T S IGT, e - Sael IR e |
W 3 AN T R, ke R R dn |
2) S o T &%
e < i 7 Tl
1 2 Tt <
o I8 T it e &
IgR AR,
IR, FEh A HA arar |
3) TR w1 | el
<= T o g,
ot <l Freasuar @
g T TA fR-fw

I et St wforacdt o wr foraem soeh) Rrdraarett W e erfem ; (14x2=28)
1) &1
2) et i ufan |
3) fiRm |

IV, T gt uel o 3ot Rl (5x2=10)
1) aﬁmﬁmmww&f%?w&aﬁmﬁm%?mmm%ﬁm |
2) Taeranicanoss 0 ed ¥ ? 3 ) Serewor fergam amat & s Hif |
3) T ol ea § 7 HiTeter 39k wE e w53 iR |
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V. Frerfn wedt o R i s AR :
1) Cisculation

2) Vaccination

3} Astrology
- 4) Thermometer

5) Memory unit

6) Pollination

7) Womb

8) Microscope

9) Afforestation

. 10) Resources.
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